	Вариант 1.
1. Вычислить:      
	1) 0,54 +(-0,83);
	6)  0

	2) -1,7 –(-8);
	7)  ;

	3) -18,9 - 36,4;
	8)  -3 ;

	4) -6,7 
	9)  8,4: (- 0,7);

	5) -1  ;
	10) - : (-4).


2. Решить уравнения:
1) -3,2 + х = 5,2;
2) 5,7 – х = 8,9;
3) 6, 7 + х = - 4,3;
4) -  х = 2;
5) -4,3: х = -14,62
3. Найти значение числового выражения:
1) (0,2 - )  ( - ) – (- - 0,75) :2;
2) 
4. Найти значение буквенного выражения:
ав : (с – d), если а = -3,5, в = - ; с = -7,1; d = -6,4
       
	Вариант 2.
1. Вычислить:      
	1) -0,42 +(-0,86);
	6)  0

	2) 1,5 –(-9);
	7)  ;

	3) -12,7 - 10,6;
	8)  -3 ;

	4) 3,7 
	9)  6,4: (- 0,8);

	5) -1  );
	10) - : (-4).


2. Решить уравнения:
1) -3,2 - х = 5,2;
2) -5,7 + х = 8,9;
3) -6, 7 - х = - 4,3;
4)  х = -2;
5) Х : 4,3 = -0,51.
3. Найти значение числового выражения:
1) (-0,5 - )  ( - ) – (- – (-0,75)) :(- )
2) 
4. Найти значение буквенного выражения:
(а + в)  ,  если а = -8,3, в = ; с = -1; d = -0,6





